Chapter 4 Review
. Usethe glven translation to find the coordinates of the image of quadrilateral ABCD.

G e 2 (m3) > (x-2 (7 +3) N

A!(‘ip --2) EJ%{\ ,',c- : o :Y ' ‘C3 L'f) -
@ L&"; Ha| AL LB L] T A Bf C‘-ﬁ l)

q L ) i 21 4 1.‘ _':;' - 1 i DM \E’B % 0 /2’)

9, l) 72 AV D'__ 2{l>

n| ! Y

Write a rule for the translation of the proimage to the image.
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Graph the polygon mth the gwan vemces and its image after a rotation of tho given number of dagrees :
clockwise about the origin. . '

5. 4(4, 1) 3(4 ~4),C(1,-4), D(1,-3); : 6 D(3, 5), B(4, 1), F(1, 1); 90°
igoﬁ f{ ly 17 ) l]
. . ( l' F v
“_“'p‘ ‘!4 N 4 " \
D! _ 2 VA
---‘F.‘ .r"l 2. - :: l ‘ f:*f ‘,'f -
- . : L N . -6 [—-4 -2 12 4 >
St =g 1-4 [=2 | 2 '_,A'ii'x S e ' - 9]
‘ : 20 R ' --4-. -+ 4]
‘_‘& ;?7 ] . A

Determine whether the polygons with the given vertices are oongruent or slmiiar Use transformatlons to
explain your reasoning.

7. 4(-6, -3), B(-3, 7), C(2, 5) andE( 7, 1), F(~4, 9), G{1, 7) Coﬂgf t.Can e A sz:';
1
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8.R(2, 3), S(2 ~4), T(-4, 6}, U(0, 6) and M(9, 1), N(9, -20), o( 9, 10), £(3, 10)

Similar, Ca,hbtmopf?b{ Y & L;.hmu.y pa Qp!lomd ad'mﬁf.‘ln.ﬁh 3> 5l

Determine whether the object has line syminetry and whether 1t has rotatlonal symmetry. Identify all lines of symmetry
and angles of rotation that map the figure into itself.
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Describe a cong ruence transformaﬂon that maps the black perimage to the grey image.
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14, Consider triangle ABC with vertices A(0, 0), B(0, 4), C(6, 0). The image
of triangle ABC after a dilation has vertices 4'(0, 0), B'(0, 10), C'(15, 0). What is the scale factor of

the dilation? K 2 S"

15. Triangle ABC with vertices 4(~2, 5), B(L, 8), C(7, 5) is dilated using a ( --’7 17 5') 6’[3 S‘ 025’) |

" scale factor of _3-1—'. “What are the coordinates of the image of triangle ABC?

C' (245, m,s)

Describe a slmllarlty transformaﬁon that maps the first polygon to the second polygon

16. 4(—6, —6), B(-6, 3) (3 3), D(3 ~6) and J(~2, -2), K(-2, 1),

in Exercises 18 and 19, graph APQR with vertices P(-1, 5), 0(44 3), and R(—2 1)

L(1, 1), M(1, -2)

and Its limage after the slmllarity transformatlon

-18. Rotatlon: 180° about the or_lgm

Dilation: (x,¥) - (2x, 2y) |
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1, A1, 2), 3(2, 2), C(1, 4) and 9(4, —6), £(6, —6), F(4, -2) ( Y, :%g 9 ( \(H -"Sj ._@-

(2x, ZJ)

19. Dilation: (% y) = (—-J% "2‘.1‘)

Reflection: in the x-axis

200, 0 (5,-9R" (4,2)

ditation is a reduction or an enlargement
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20.

P“('z,-z-l)é {-2 —li) 4 [ -1 '*,L)

" In Exercises 20 and 21, find the scale factor of the dilation. Then tell whether the
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